210-1455 Youville Drive Ottawa, On K1C 6Z7 Phone: 613-837-1104

Vendor:

HARDING MECHANICAL CONTRACTORS INC 200 NIPISSING COURT KANATA, ONTARIO K2T 0N7

Ship To:

Site: Lot/Unit:

PLACE ST. THOMAS PHASE 6 BLOCK D17-D18-D19-D20-G37

Model:

Civic:

NAMUR STREET

tel:

613-831-2257

fax: contact:

ORDER DATE CHG. ORDER DT. **CANCEL DATE** RESPONSIBILITY **VENDOR# TERMS** NET 30 DAYS May 31, 2023 ARIEL H01 REFERENCE Comments/Special Instructions:

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRICE	EXTENSION
066-D17-220	CODE 220	COMMISSION HWT BLOCK D17	1.0000	90.000000	90.00
066-D18-220	CODE 220	COMMISSION HWT BLOCK D18	1.0000	90.000000	90.00
066-D19-220	CODE 220	COMMISSION HWT BLOCK D19	1.0000	90.000000	90.00
066-D20-220	CODE 220	COMMISSION HWT BLOCK D20	1.0000	90.000000	90.00
066-G37-220	CODE 220	COMMISSION HWT BLOCK G37	1.0000	90.000000	90.00
		Fornece commissioning  plos \$10.00 was  already included in  2022 contract.			

Authorized Signature

Subtotal 450.00 **HST** 58.50 **Total Order Value** 508,50

## **ORDER TERMS AND CONDITIONS**

1. INVOICES must bear exact same prices and terms or authorization for changes must be received from our company in writing prior to shipping.

2. The right is reserved to cancel all or part of this order if not delivered within the time specified.

- 3. Packing slips must accompany all shipments.
  4. In the event of interruption of our business in whole or in part by reason of fire, flood, windstorm, earthquake, war, strike, embargo, acts of God, governmental action, or any causes beyond our control, we shall have the option of cancelling undelivered orders in whole or in part.
- 5. Acceptance of this pirchase order, or shipment of it will constitute an agreement to all of its specifications as to terms, delivery and prices. 6. No deliveries accepted after 4:00 pm or on weekends.

dba: Harding Heating and Air Cond.

200 Nipissing Court Kanata, ON K2T 0N7

Fax:

Telephone: (613) 831-2257 (613) 831-9011

Sold To:

Valecraft Homes 2019 Limited

St Thomas

Suite 210 1455 Youville Drive

Orleans, Ontario

K1C 6Z7

Job Location:

17D **j**ot (745 Namur)

St.Thomas

Embrun, Ontario

6138371104

INVOICE

Invoice Number: W22798

Invoice Date:

Sep 30/22

Terms:

COD

Customer Code: Reference:

VAL05 225

Customer Order:

0001895-00270704

Work Order #: Work Order Type: Service

Job Location:

17D lot (745 Namur)

Called By: Starting Date: Valecraft

Ending Date:

Aug 30/22 Aug 30/22

Description	Qty	Price	Total
Work Performed			:
Commission FWA and HWT			,
Aug 30th			
SERVICE	1.00	225.00	225.00

FIRST CALL*	Subtotal	225.00
	HST/BN# (137439923)	29.25
	Total Invoice	254.25

dba: Harding Heating and Air Cond. 200 Nipissing Court Kanata, ON K2T 0N7

Telephone: (613) 831-2257

Fax:

(613) 831-9011

Sold To:

Valecraft Homes 2019 Limited

St Thomas

Suite 210 1455 Youville Drive

Orleans, Ontario

K1C 6Z7

Job Location: 18D ot (743 Namur)

St. Thomas

Embrun, Ontario

6138371104

INVOICE

Invoice Number: W22799

Invoice Date:

Sep 30/22

Terms:

COD

Customer Code:

VAL05

Reference:

Customer Order: ~0001895~

Work Order #:

00270705

Work Order Type: Service

Job Location:

18D lot (743 Namur)

225

Called By: Starting Date: Valecraft Aug 30/22

Ending Date:

Aug 30/22

Description	Qty	Price	Total
Work Performed			
Commission FWA and HWT			
Aug 30th			•
SERVICE	1.00	225.00	225.00

FIRST CALL*	- CONDITIONS -	Subtotal	225.00
		HST/BN# (13/439923)	29.25
		Total Invoice	254.25

dba: Harding Heating and Air Cond.

200 Nipissing Court Kanata, ON K2T ON7

Telephone: (613) 831-2257 Fax: (613) 831-9011

Sold To:

Valecraft Homes 2019 Limited

St Thomas

Suite 210 1455 Youville Drive

Orleans, Ontario

K1C 6Z7

Job Location:

19D lot (741 Namur) St.Thomas

Embrun, Ontario

6138371104

INVOICE

Invoice Number:

W22800 Sep 30/22

Invoice Date:

Terms: Customer Code: COD

Reference:

VAL05

Customer Order: Work Order #:

0001909 00270706

Work Order Type: Service

Job Location: Called By:

19D lot (741 Namur) Valecraft

225

Starting Date:

Aug 30/22

Ending Date:

Sep 30/22

Description	Qty	Price	Total
Work Performed			
Commission FWA and HWT			
Aug 30th			
SERVICE	1.00	225.00	225.00

	- CONDITIONS -	Subtotal	225.00
FIRST CALL*			
			29.25
		HST/BN# (137439923)	29,23
		Total Invoice	254.25

dba: Harding Heating and Air Cond. 200 Nipissing Court Kanata, ON K2T ON7

Telephone: (613) 831-2257 (613) 831-9011 Fax:

Sold To:

Valecraft Homes 2019 Limited

St Thomas

Suite 210 1455 Youville Drive

Orleans, Ontario

K1C 6Z7

Job Location:

20D 1pt (739 Namur)

St. Thomas

Embrun, Ontario

6138371104

INVOICE

Invoice Number: W22801

Sep 30/22

Invoice Date:

Terms: Customer Code: COD

VAL05

Reference: Customer Order:

0001909

225

Work Order #:

00270707

Work Order Type: Service

Job Location:

20D lot (739 Namur) Valecraft

Called By: Starting Date:

Aug 30/22

Ending Date:

Sep 30/22

Description	Qty	Price	Total
Work Performed			
Commission FWA and HWT			
Aug 30th			
SERVICE	1.00	225.00	225.00

- CONDITIONS - FIRST CALL*		Subtotal	225.00
		HST/BN# (137439923)	29.25
		Total Invoice	254.25



To:

Valecraft Homes 2019 Limited St Thomas Suite 210 1455 Youville Drive Orleans, Ontario K1C 627 K1C 627

Civic Address: 705 NAMUR STREET

Job Location: Valecraft St Thomas Towns Ph 6

INVOICE

No.

109408

Inv. Date Our Job No. Cust Code Jan 31/23 4148

VAL05

Lot	Model	Description PO/Compl.Cert.#	Amount
(G37)	160	HWT Commissioning	90.00

Aniel checking for P.O. p.

200 Nipissing Court Kanata, Ontario K2T 0N7 Phone: 613-831-2257 Fax: 613-831-9011 Subtotal PST GST/HST #137439923

···

Total Invoice

101.70

90.00

0.00

11.70